Name_____________________________________________________      Date____________________
Directions: Solve the following problems. SHOW ALL YOUR WORK!

1. Christian earned a 4/5 on a quiz and Janleo earned a 75%.  Who performed better?  Justify your answer. SHOW YOUR WORK!
Answer:_____________________________________________________performed better because 

______________________________________________________________________________

______________________________________________________________________________.

2. There are 3 stores with sales on apples.  All 3 stores are offering the apples for $1.50.  One store is offering 1/2 lb. of apples.  The next store is offering 7/10 lb. of apples for $1.50.  The final store is offering 0.75 lbs. of apples. Order the weights of the apples from least to greatest. SHOW YOUR WORK!

                                                                                              Answer________________________________________

3. Keidria got a 0.8 on her quiz.  She went to extra help 3 times.  What is her quiz score as a percentage? SHOW YOUR WORK!

                                                                                                Answer_______________________________________

4. Jerry has a bag of candy that weighs 3/4 lbs.  What is the weight of his bag of candy as a decimal? SHOW YOUR WORK!
                                                                                                    Answer_________________________________________

Use the chart below to answer questions 5 and 6. 
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________ 5. Below are 4 student responses to complete Row A which states, “30 days out of 100 days”.  Which student completed Row A correctly?

a. Student A: 1/3, 0.3, 30%

b. Student B: 30/100, 0.33, 31%

c. Student C: 3/10, 0.3, 3%

d. Student D: 3/10, 0.3, 30%

_________ 6. Below are 4 student responses to complete Row D, which states, “21 out of 40 mountain bikes”.  Which student completed Row D correctly?

a. Student A: 4/5, 0.8, 80%

b. Student B: 3/4, 0.75, 75%

c. Student C: 21/40, 0.52, 52.5%

d. Student D: 21/40, 0.525, 52.5%

7. Below are the test scores of one 6th grade student.  On the first test the student earned an 85%.  On the second test the student earned a 9/10, and the final test score was 0.87.

Order the test scores from the lowest grade to the highest grade.

Show your work:

Answer:_______________________________________________________________________________________
How do you know? ____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
8. Ms. Goodheart recorded test scores as fractions and percents.  The test scores are: 1/2, 75%, 4/5 and 90%.  Convert each test score into a decimal. SHOW YOUR WORK!


                                                                                                                       Answer___________________________________

